GRE10-6(96.4)

SECTION1 (B) misanthropy
Time —30 minutes (C) virtuosity
38 Questions (D) equanimity

(E) prodigality
1.While scientists dismiss as fanciful the idea of sudden
changes in a genetic code (spontaneous mutation), it 6. If the state government's latest budget problems

is possible that nature, like some master musician, were ----, it would not be useful to employ them as
---- on occasion, departing from the expected or ----examples in the effort to avoid the inevitable
predictable. effects of shortsighted fiscal planning in the future.
(A) repeats (A) typical.. representative
(B) improvises (B) exceptional.. aberrant
(C) ornaments (C) anomalous.. illuminating
(D) corrects (D) predictable.. helpful
(E) harmonizes (E) solvable.. insignificant

2. Despite the ---- of time, space, and history, human 7. Just as some writers have ---- the capacity of
societies the world over have confronted the same language to express meaning, Giacometti ---- the
existential problems and have come to remarkably failure of art to convey redlity.
---- solutions, differing only in superficia details. (A) scoffed at .. ajured
(A) continuity.. identica (B) demonstrated.. exemplified
(B) uniformity.. diverse (C) denied.. refuted
(C) actudlities.. varied (D) proclaimed.. affirmed
(D) contingencies.. similar (E) despaired of .. bewailed

(E) exigencies.. unique
8. WALLET: MONEY::
3. Although he was known to be extremely ---- in his (A) bank: vault

public behavior, scholars have discovered that his (B) suitcase: clothing
(C) checkbook: balance

(D) wedlth: prestige
(E) envelope: stamp

diaries were written with uncommon ----.
(A) reserved.. frankness
(B) polite.. tenderness

(C) modest.. lucidity 9. INSTRUMENTALIST: SYMPHONY::

(D) reticent.. vagueness (A) author: drama
(E) withdrawn.. subtlety (B) photographer: cinema
(C) composer: concerto
4. With the ---- of scientific knowledge, work on (D) artist: painting
the new edition of a textbook begins soon after (E) dancer: ballet
completion of the original.

10. PLATEAU: CHANGE:
(A) respite: activity
(B) asylum: security
_ (C) terminus: journey
(D) certainty (D) interval: time
(E) burgeoning (E) lull: rest

(A) limitation
(B) culmination
(C) veneration

5. Sheis most frugal in matters of business, but in her 11. ISTHMUS: LAND::
private life she reveals a streak of ----. (A) peninsula: island

(A) antipathy (B) canal: river
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(C) dtratosphere: air
(D) strait: water
(E) tunnel: mountain

12. EMBARGO: COMMERCE::
(A) abstention: election
(B) strike: lockout
(C) boycott: development
(D) quarantine: contact
(E) blockade: port

13. DILATORY: PROCRASTINATE::
(A) recacitrant: comply
(B) malcontent: complain
(C) ambivalent: decide
(D) inept: modify
(E) credulous: learn

14. NOMINAL: SIGNIFICANCE::
(A) titular: honor
(B) ephemeral: brevity
(C) divisible: continuity
(D) anomalous: distinction
(E) digunctive: unity

15. PLAGIARISM: IDEAS:
(A) libel: words
(B) forgery: documents
(C) arson: buildings
(D) kidnapping: ransom
(E) rustling: cattle

16. POLITIC: OFFEND::
(A) distressing: terrify
(B) aloof: associate
(C) misunderstood: surmise
(D) vacuous: deplete
(E) trivid: bore

For many years, Benjamin Quarles semina
account of the participation of African Americans in the
American Revolution has remained the standard work
in the field. According to Quarles, the outcome of this
conflict was mixed for African American slaves who
enlisted in Britain's fight againgt its rebellious
American colonies in return for the promise of freedom:

the British treacheroudly resold many into slavery in the
West Indies, while others obtained freedom in Canada
and Africa. Building on Quarles analysis of the latter
group, Sylvia Frey studied the former slaves who
emigrated to British colonies in Canada. According to
Frey, these refugees-the most successful of the African
American Revolutionary War participants-viewed
themselves as the ideological heirs of the American
Revolution. Frey sees this inheritances reflected in their
demands for the same rights that the American
revolutionaries had demanded from the British: land
ownership, limits to arbitrary authority and burdensome
taxes, and freedom of religion.

17.According to the passage, which of the following
istrue about the African American Revolutionary

War participants who settled in Canada after the

American Revolution?

(A) Although they were palitically unaligned with
either side, they identified more with British
ideology than with American ideology.

(B) While they were not immediately betrayed by
the British, they ultimately suffered the same
fate as did African American Revolutionary.
War participants who were resold into davery
in the West Indies.

(C) They settled in Canada rather than in Africa
because of the greater religious freedom
available in Canada.

(D) They were more politicaly active than were
African American Revolutionary War participants
who settled in Africa.

(E) They were more successful than were African
American Revolutionary War participants who
settled Africa

18.Which of the following is most analogous to the
relationship between the African American

Revolutionary War participants who settled in

Canada after the American Revolution and the

American revolutionaries, as that relationship is

described in the passage?

(A) A brilliant pupil of agreat musician rebels
against the teacher, but adopts the teacher's
musical style after the teacher's unexpected
death.
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(B) Two warring rulers finally make peace after a
lifetime of strife when they realize that they
have been duped by a common enemy.

(C) A child who has sided with a domineering
parent against a defiant sibling later makes
demands of the parent similar to those once
made by the sibling.

(D) A writer spends much of her life popularizing
the work of her mentor, only to discover late in
life that much of the older writer'swork is
plagiarized from the writings of a foreign
contemporary.

(E) Two research scientists spend much of their
careers working together toward a common
godl, but later quarrel over which of them should
receive credit for the training of a promising
student.

19. The author of the passage suggests that which of the

following is true of Benjamin Quarles work?

(A) It introduced a new and untried research method-
ology.

(B) It contained theories so controversial that they
gave rise to an entire generation of scholarship

(C) It was a pioneering work that has not yet been
displaced by subsequent scholarship.

(D) It launched the career of a scholar who later wrote
even more important works.

(E) At the time it appeared, its author already enjoyed
awell-established reputation in the field.

20.Which of the following can be inferred from the
passage concerning Britain's rule in its Canadian
colonies after the American Revolution?

(A) Humiliated by their defeat by the Americans, the
British sharply curtailed civil rightsin their Canadian
colonies.

(B) The British largely ignored their Canadian
colonies.

(C) The British encouraged the colonization of Canada
by those African Americans who had served on
the American side as well as by those who had
served on the British side.

(D) Some of Britain's policies in its Canadian colonies
were similar to its policiesin its American colo-
nies before the American Revolution.

(E) To reduce the debt incurred during the war, the
British imposed even higher taxes on the Cana
dian colonists than they had on the American
colonists.

Over the years, biologists have suggested two main
pathways by which sexua selection may have shaped the
evolution of male birdsong. In the first, male competition
and intrasexual selection produce relatively short, simple
songs used mainly in territorial behavior. In the second,
female choice and intersexual selection produce longer,
more complicated songs used mainly in mate attraction;
like suchvisud ornamentation as the peacock's tail, elabo-
rate vocal characteristics increase the male's chances of
being chosen as a mate, and he thus enjoys more repro-
ductive success than his less ostentatious rivals. The two
pathways are not mutually exclusive, and we can expect to
find examples that reflect their interaction. Teasing them
gpart has been an important challenge to evolutionary biol-
ogists.

Early research confirmed the role of intrasexud selection.
In avariety of experiments in the field, males responded
aggressively to recorded songs by exhibiting territorial
behavior near the speakers. The breakthrough for
research
into intersexua selection came in the development of anew
technique for investigating female response in the labor-
atory. When female cowbirds raised in isolation in sound
proof chambers were exposed to recordings of male song,
they responded by exhibiting mating behavior. By quanti-
fying the responses, researchers were able to determine
what particular features of the song weremost important.

In further experiments on song sparrows, researchers found
that when exposed to asingle song type repested several
times or to arepertoire of different song types, femaes
responded moreto the latter. The beauty of the experi-
mental designisthat it effectively rules out confounding
variables; acoudtic isolation assures that the female can
respond only to the song structure itsalf.

If intersexua selection operates as theorized, maes with
more complicated songs should not only attract females
more readily but should also enjoy greater reproductive
success. At first, however, researchers doing fieldwork with
song sparrows found no correlation between larger reper-
toires and early mating, which has been shown to be one
indicator of reproductive success, further, common measures
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of mae quality used to predict reproductive success, such
asweight, size, age, and territory, also failed to correlate
with song complexity.

The confirmation researchers had been seeking was
findly achieved in studies involving two varieties of war -
blers. Unlike the song sparrow, which repesats one of its
several song types in bouts before switching to another, the
warbler continuoudy composes much longer and more vari-
able songs without repetition. For the first time, researchers
found a significant correlation between repertoire size and
early mating, and they discovered further that repertoire
size had amore significant effect than any other measure
of mae quality on the number of young produced. The evi-
dence suggests that warblers use their extremely elaborate
songs primarily to attract females, clearly confirming the
effect d intersexua selection on the evolution d birdsong.

21. The passage is primarily concerned with

(A) showing that intrasexua selection has a greater
effect on birdsong than does intersexual selection

(B) contrasting the role of song complexity in severd
species of birds

(C) describing research confirming the suspected rela-
tionship between intersexua selection and the
complexity of birdsong

(D) demonstrating the superiority of laboratory work
over fidd studies in evolutionary biology

(E) illustrating the effectiveness of a particular
approach to experimental design in evolutionary
biology

22.The author mentions the peacock's tail in line 8 most

probably in order to

(A) cite an exception to the theory of the relationship
between intrasexual selection and male compe-
tition

(B) illustrate the importance of both of the pathways
that shaped the evolution of birdsong

(C) draw adistinction between competing theories of
intersexual selection

(D) give an example of afeature that may have
evolved through intersexual selection by female
choice

(E) refute acommonly held assumption about the role
of song in mate attraction

23.According to the passage, which of the following is
specifically related to intrasexual selection?
(A) Femae choice
(B) Territorial behavior
(C) Complex song types
(D) Large song repertoires
(E) Visud ornamentation

24.Which of the following, if true, would most clearly

demonstrate the interaction mentioned in lines 11-137?

(A) Female larks respond similarly both to short,
simple songs and to longer, more complicated
songs.

(B) Male canaries use visual ornamentation as well as
elaborate song repertoires for mate attraction.

(C) Both male and female blackbirds develop e abo-
rate visual and vocal characteristics.

(D) Mde jays use songs to compete among themselves
and to attract females.

(E) Male robins with elaborate visual ornamentation
have as much reproductive success as rivals with
elaborate vocal characteristics.

25. The passage indicates that researchers raised femae
cowhirds in acoustic isolation in order to
(A) eliminate confounding variables
(B) approximate field conditions
(C) measure reproductive success
(D) quantify repertoire complexity
(E) prevent early mating

26. According to the passage, the song sparrow is unlike
the warbler in that the song sparrow
(A) uses songs mainly in territorial behavior
(B) continuously composes long and complex songs
(C) has amuch larger song repertoire
(D) repeats one song type before switching to another
(E) responds aggressively to recorded songs

27.The passage suggests that the song sparrow experiments
mentioned in lines 37-43 failed to confirm the role
of intersexnal selection because
(A) females were allowed to respond only to the
song structure
(B) song sparrows are unlike other species of birds
(C) the experiments provided no evidence that
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elaborate songs increased male reproductive
success

(D) the experiments included the songs of only a small
number of different song sparrows

(E) the experiments duplicated some of the limitations
of previous field studies

28. STRINGENT:
(A) lax
(B) elusive
(C) impartia
(D) evident
(E) vast

29. INTERIM:
(A) obscure
(B) permanent
(C) prudent
(D) resolute
(E) secure

30. SCATHING:
(A) easily understood
(B) politely cooperative
(C) intentionally involuted
(D) calmly complimentary
(E) strongly partisan

31. CAPITULATE:
(A) enjoin
(B) resist
(C) observe closely
(D) consider carefully
(E) appraise critically

32. RECONSTITUTE:
(A) detall
(B) invent
(C) spoail
(D) conform
(E) dehydrate

33. REPUTE:
(A) lack of caution
(B) lack of knowledge
(C) lack of emotion

(D) lack of generosity
(E) lack of distinction

34. TAME:
(A) resolute
(B) ruinous
(C) racy
(D) erratic
(E) experienced

35. INDURATE:
(A) soften
(B) puncture
(C) denude
(D) immure
(E) exchange

36. PROLIXITY:
(A) succinctness
(B) profundity
(C) persuasiveness
(D) complacency
(E) cleverness

37. CALLOW:
(A) displaying keen intelligence
(B) behaving with adult sophistication
(C) reacting cheerfully
(D) showing foresight
(E) deciding quickly

38. FRIABLE:
(A) not easily crumbled
(B) not easily torn
(C) not easily melted
(D) not easily eroded
(E) not easily punctured
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SECTION 2
Time —-30 inutes
25 Questions

1.The ancient Greek playwright Euripides followed the
established conventions of verse composition lessrig-
oroudly at the end of his career than at the beginning.
Since the lines from a recently discovered Euripidean
play adhere to those conventions as rigorously as do
lines from Euripides early plays, the recently discov-
ered play must have been composed early in Euripides
career.

Which of the following is an assumption made in the

argument?

(A) All of Euripides plays were written in verse.

(B) Euripides did not write any plays late in his
career in which he imitated the style of his
early plays.

(C) Euripides grew increasingly unaware of the
established conventions of verse composition
as his career progressed.

(D) Late in his career, Euripides was the only
playwright of his day who consciously broke
with the established conventions of verse
composition.

(E) Ancient playwrights tended to be less willing to
violate certain conventions early in their
careers than they were later in their careers

2.In the United States, average fuel efficiency of
newly manufactured domestic cars, although
remaining worse than that of newly manufactured
imported cars, substantially improved between 1983
and 1988. Average fuel efficiency of new domestic
cars has not improved since, but the differencein
average fud efficiencies of new domestic cars and
new imported cars has steadily decreased.

If the statements above are true, which of the
following must also be true on the basis of them?
(A) Average fuel efficiency of domestic cars manu-
factured after 1988 was better than that of
imported cars manufactured before 1988.
(B) Average fuel efficiency of newly manufactured

domestic cars has steadily worsened since 1988.

(C) Average fuel efficiency of newly manufactured
imported cars has steadily worsened since 1988.
(D) Average fud efficiency of newly manufactured
imported cars has steadily improved since 1983.
(E) Average fuel efficiency of imported cars manu-
factured in 1983 was better than that of
imported cars manufactured in 1988.

Questions 3-8

In order to remodel a kitchen, exactly six major tasks—
installing appliances, plumbing, refinishing, sanding,
tiling, and wallpapering? are to be done over six con-
secutive days? numbered 1 through 6. The order of the
tasks is governed by the following conditions

Exactly one task must be done each day.

Refinishing must be done on the day after sanding is done,

Installing appliances and tiling must each be done on
some day after the day on which plumbing is done.

Wallpapering must be done on some day after the day
on which refinishing is done.

3.Which of the following is an acceptable order in
which the tasks can be done on days 1 through 6?
(A) Installing appliances, sanding, refinishing,
wallpapering, plumbing, tiling
(B) Plumbing, installing appliances, wallpapering,
sanding, refinishing, tiling
(C) Plumbing, sanding, refinishing, installing
appliances, wallpapering, tiling
(D) Sanding, plumbing, installing appliances,
refinishing, tiling, wallpapering
(E) Sanding, refinishing, tiling, wallpapering,
plumbing, installing appliances

4.The latest day on which plumbing can be done is day
(A)1
(B) 2
©3
(D) 4
B5

5.1f sanding is done on day 1, then wallpapering
CANNOT be done on day
(A)2
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(B)3
©4
(D)5
(B)6

6.If tiling is done on day 2 and installing appliancesis
done on day 5, which of the following are the tasks
that must be done on days 1 and 6, respectively?
(A) Plumbing, refinishing
(B) Plumbing, wallpapering
(C) Sanding, plumbing
(D) Sanding, wallpapering
(E) Wallpapering, sanding

7.1f plumbing is done on day 1 and wallpapering is
done on day 5, which of the following can be the
tasks that are done on days 2 and 6, respectively?
(A) Refinishing, tiling
(B) Sanding, installing appliances
(C) Sanding, refinishing
(D) Tiling, refinishing
(E) Tiling, sanding

8.If tiling is done on day 3, which of the following
must be done on day 2?
(A) Installing appliances
(B) Plumbing
(C) Refinishing
(D) Sanding
(D) Wallpapering

Questions 9-10 are based on the following graph.

EFFECTS OF THE DROUGHT OF 1981-1984
Fercentage change in food production per person
from 1973-1981(before the drought)to 1983-1984

S50% -20%% -10% 0%

Ethiopia

Severe famine [> 110

Sewere farmne [> -12.5%%

No famine [> -17.0% Botswana
Mo farmme: .
wortality rate D IT.5% Zitbabwee
declned

9. It can be properly concluded from the graph that
(A) the drought beginning after 1981 affected crops
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to asimilar degree in the four countries

(B) acountry can withstand a severe famine without
a substantial increase in mortality

(C) asubstantial decline in production of food per
person in a country does not necessarily result
in famine and increased desths

(D) the drought was more severe in the four countries
by 1984 than it had been in 1982

(E) there is no way to differentiate between cour+
tries that will and countries that will not suffer
severe famine when food production drops
sharply

10.Which of the following, if true, contributes most to

an explanation of differences in the presence of
famine that are shown on the graph?

(A) The drought that began in 1981 was more severe
in the countries of Botswana and Zimbabwe
than in Sudan and Ethiopia.

(B) Before the drought, Sudan, Ethiopia, and Bots-
wana were exporters of their major food crops,
including grain, but Zimbabwe was not an
exporter of its major food crops.

(C) During 1979-1984, the population of Botswana
and Zimbabwe combined was | ess than the
population of either Sudan or Ethiopia.

(D) At the beginning of the drought, surplus food
stocks in Sudan and Botswana were larger,
relative to population, than in Ethiopia and
Zimbabwe.

(E) Popular demand for relief eicited a prompt
response from the governments of Botswana
and Zimbabwe, because they were democracies,
but not from the nondemocratic governments
of Sudan and Ethiopia.

11. Between 1970 and 1980, energy consumption by

United States industry peaked and then declined, so
that by 1980 total industrial use of energy was below
the 1970 level even though total industrial output
had grown substantially in the same period. Industry
must have instituted highly effective energy conser-
vation measures in those years to have achieved such
impressive results.
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Which of the following, if true, most seriously weak-
ens the conclusion of the argument?

(A) Many industries switched to the greatest extent
possible from high-priced oil to lower-priced
alternatives throughout the 1970's.

(B) Tota residentia energy consumption was higher
in the United States in 1980 than it had been
in 1970

(C) Many industria users of energy had paid little
attention to energy conservation prior to 1970.

(D) Industrial output grew less rapidly from 1970 to
1980 than it had from 1960 to 1970.

(E) The industries whose production dropped sharply
during the 1970's included a disproportionately
large number of energy-intensive industries.

12.Many people acquire software programs for their
home computers by illegally copying those programs
rather than purchasing them. People who own home
computers must be making, on average, fewer illegal
copies of software programs than before, however,
since the average number of software programs that
people purchase to use on their home computers has
increased substantially over the past five years.

Which of the following, if true, most strengthens the
argument?

(A) The number of home computers in use has
increased substantially over the past five years.

(B) Five years ago, about half of the software pro-
grams used on home computers had been
illegally copied rather than purchased.

(C) Most people who have home computers use
their computers more frequently the longer
they have them.

(D) Few people who prefer to copy computer
software programsillegally cannot copy the
software programs they want because they
have no acquaintances who have those
software programs.

(E) On average, people with home computers have
the same number of software programs today as
people with home computers did five years ago.

Questions 13-17

Exactly seven detectives? G, H, J, K, M, O, and P—
will investigate two cases—case 1 and case 2. Each of
the seven detectives will investigate exactly one of the
two cases. Four of the detectives will investigate case 1,
and three of the detectives will investigate case 2. Detec-
tives will be assigned to cases in accordance with the
following conditions

G cannot investigate the same case that J investigates.

Whichever case K investigates must also be the case
that M investigates.

H must investigate case 1.

13. Which of the following is an acceptable assignment
of the detectives to the two cases?

Casel Case 2
(A)G,H,JP K,M,O
B)G,K,M,0 H,JP
(COH,JO G K,M,P
DH,JK,M GOP
(BE)H, JK,P G M,O

14.1f Jinvestigates the same case that P investigates,
which of the following detectives must investigate
the same case that K investigates?
(A)G
(B)H
©J
(D)o
EP

15.1f O investigates case 2, which of the following must
also investigate case 2?
(A)G
(B)J
OK
(D)M
EP

16.If Jinvestigates case 2, which of the following is a
pair of detectives who must investigate the same
case as each other?

(A)GandH
(B) Gand P
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(C)Hand O
(D) Jand K
(E) Jand M

17.Any of the following can be true EXCEPT
(A) G investigates the same case that H investigates.
(B) H investigates the same case that M investigates.
(C) K investigates the same case that O investigates.
(D) Jinvestigates case 1.
(E) P investigates case 2.

Questions 18-22

Each year, a gardener will plant five kinds of vegetables—
F, G, J, K, and M, not necessarily in that order—in a
garden congisting of five parald, adjacent rows, numbered
consecutively 1 through 5. One kind of vegetable will be
planted per row each year according to the following
rules

K cannot be planted in the same row in any two
successive years.

If Jis planted in agiven row in one year, M must be
planted in that row the next year.

Because of nutrient requirements, F and M cannot in
any year be planted in rows that are adjacent to each
other.

In any year, J must be planted in arow that is adjacent
to the row in which G is planted.

18.Which of the following is an acceptable plan for

planting in the first year the garden is planted, with
the kinds of vegetablesin order from row 1 through
row 5?

A)F G IM, K

B)G,M,J K, F

©) I K MG, F

D)K,J G M, F

EM,GK,JF

19.1f in a given year the order of the vegetables planted,
fromrow 1 throughrow 5, isK, F, G, J, M, thenin
the next year. F must be planted in row
(A1
(B)2
©3

(D)4
(E) 5

20.Which of the following must be true in ayear in
which Gis planted in row 5?
(A) Fisplanted in row 1.
(B) Jis planted in row 3.
(C) K isplanted in row 2.
(D) M isplanted in row 1.
(E) M is planted in row 3.

21.1f M isto be planted in row 5 in the second year the
garden is planted, then which of the following must
be planted in row 4 in the first year?
(A) F
(B)G
©J
(D)K
BM

22.1f in agiven year Jis planted in row 1, then in the
next year K can be planted in row
(A) 1 or 5 but cannot be planted in any other row
(B) 2 or 4 but cannot be planted in any other row
(C) 2 or 5 but cannot be planted in any other row
(D) 3 or 5 but cannot be planted in any other row
(E) 4 or 5 but cannot be planted in any other row

23.From a newspaper editoriad
Many people who are addicted to heroin will even-
tually attempt to overcome their addiction, prin-
cipaly for two reasons  the expense of maintaining
a heroin addiction and the fear of arrest. If heroin
were legalized and made available cheaply, as some
people advocate, neither of these reasons would

apply

The considerations above can best serve as part of an

argument that

(A) legdizing the sale of heroin would cause the
price of this drug to go down

(B) making it easier for heroin addicts to dotain
treatment for their addiction would encourage
many heroin addicts to attempt to overcome
their addiction

(C) legdizing the sale of heroin would increase the

138



GRE10-6(96.4)

number of crimes committed by heroin addicts
to support their addiction

(D) making heroin available legaly and cheaply
would make it less likely that heroin addicts
will attempt to overcome their addiction

(E) decreasing the severity of penalties for individuals
who use heroin would not increase the number
of new heroin addicts

24.Stem borers are insect pests that often ruin North
American corn crops. On some other continents, crop
damage by stem borersis controlled by a certain
species of wasp. Since these wasps eat nothing but
stem borers, importing them into North America will
keep crop damage from stem borers under control
without endangering other North American insect
Species.

Which of the following is an assumption on which the

argument depends?

(A) Cornisthe principa food of stem borers that
live on continents other than North America.

(B) The wasps are capable of surviving in North
Americalong enough to eat significant
numbers of stem borers.

(C) No wasp in North Americais closely related to
the species of wasp that eats stem borers.

(D) On continent other than North America, the
wasps control stem borers more effectively
than does any other pest control measure.

(E) Corn crops on continents other than North
America are not damaged by any insect pests
other than stem borers.

25.1n the country of Laurelia, lega restrictions on the sale
of lock-picking equipment were relaxed ten years ago,
and since then Laurelia's burglary rate has risen dramat-
ically. Hence, since legally purchased lock-picking
equipment was used in most burglaries, reintroducing
strict limits on the sale of this equipment would help to
reduce Laurelias burglary rate.

Which of the following, if true, gives the strongest

support to the argument?

(A) Laurelias overal crime rate has risen dramatically
over the last ten years.
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(B) There iswide popular support in Laureliafor the
reintroduction of strict limits on the sale of lock
picking equipment.

(C) The reintroduction of strict limits on the sale of
lock-picking equipment in Laurelia would not
prevent legitimate use of this equipment by
police and other public safety officials.

(D) Most lock-picking equipment used in Laurdiais
fragile and usually breaks irreparably within a
few years of purchase.

(E) The introduction five years ago of harsher punish-
ments for people convicted of burglary had little
effect on Laurelia’s burglary rate.
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SECTION 3
Time —30 minutes
30 Questions
1 1
1. — —_—
0.82 0.81
2. The number of miles 10,000
the rocket travels in
2 hours
- X+4y =20
x-y=1
3 X y
4 2@ (2%)°
O0<n<l
4
5 ——
n+3

6. 2+4/2 242

7. r+v s+t

FORS is a square.

10. The area of square a’+b?

region TUVW
11. The median of the positive integers|, m, n, r, and sis

10, wherel < m<n<r<s

+S
— 10
2

R

O is the center of both circles.
12. The area of the The area of the
circular region shaded sector ROQ

with radius OP
-4£XEA4
-8EyE-4
13. The greatest possible 200

value of 25x—12.5y

A grocer buys apples at the regular gice of 38
cents per pound.

8. The amount saved by
the grocer on a pur-
chase of 100 pounds
of applesif the price
per pound is x cents
less than the regular

The additiona amount
paid by the grocer on a
purchase of 100 pounds
of applesif the price
per pound is X cents
more han the regular
price price

=

b g —
p,q r, and s arethe coordinates of
the points indicated on the number line.

14. p+q r+s

9. 2X+y X+y

x1 0

5 | - ()
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16.

17.

If 3x + 9y = 7x +y. then 8y=
(A) 4x

(B) 6x

(C) 8x

(D) 10x

(E) 12x

If the number of microbes in atest tube increases by
25 percent per day, how many microbes are there in
the test tube at the end of a given day if the number
of microbes at the end of the next day is 240,000 ?

were derived by subtracting 1/3 of the number of
wrong answers from the number of right answers.
On a 40-question test, if none of the questions was
omitted and the score reported was 20, how many
wrong answers were there?

(A)5

(B) 10

(©) 15

(D) 25

(E) 30

(A) 180,000
(B) 192,000
(C) 210,000
(D) 288,000
(E) 300,000

18. The average (arithmetic mean) of five numbers is 88.
Four of the numbers are 92, 89, 91......84. What is

the fifth number?
(A) 82
(B) 84
(C) 86
(D) 89
(E) 92

19. The scores reported for a certain multiple-choice test

R

I(a. k)

20. In the figure above, a —2b =
(A)-10
(B)-8
(©o
(D) 8
(E) 10

ACTUAL EMERGY ZANVINGS &5 & PERCENMT OF PROJECTED
EMERGY S4NINGS FOR EACH OF TEM PROGRAMS

Program | Energy Savinos|| Program | Energy Sawvings
G a6% il B2%
H 45% P 95%
J 107% [a] T29%
K 105% R 109%
I -12% T 9%

Mote: Projected savinos were hased onthe expected decrease inuse of
kilowestt hours of electricity as a result of plans to cut demand for

electricity

21. Which program resulted in an increase in energy use
instead of a decrease as projected?
(A) Program G
(B) Program J
(©) Program K
(D) Program M
(B) ProgramR

22. For which Program were actud energy savings aclosest
to 3/4 of the projected savings?
(A) Program G
(B) Program H
(©) Program P
(D) Program Q
(B) Program T
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23. How many of the programs resulted in gregter energy
savings than were projected?
(A) One
(B) Three
(C) Four
(D) Five
(E) Eignt

24. For which program wastheratio of actud energy
savingsto projected energy savingsclosest to 1?
(A) Program G
(B) Program K
(©) Progran M
(D) Progran P
(E) It cannat be determined from the information given.

25. Actud energy savingsfor Program G were
approximately whet fraction of actud energy savingsfor
Program T ?

(A)1/5
B) 14
© 35
(D) 53
(B It cannot be determined from the information given

26. If x isthe sum of seven consecutive odd integers
beginning with 3 and y isthe sum of seven consecutive
odd integers beginning with 5, then y-x equels
(A)2
B)7
©8
(D) 12
(B 14

-1 5
271t 2 = 5 whatisthevaueo y?
(A)O
(B)1
(©2
D)3
(B) 4

28. In arectangular coordinate system, the set of dl points (x,
y) suchthat -2< x< 2 and -2< y < 2 comprises

(A) two perpendicular line segments
(B) two pardld line ssgments

(C) adrculer region

(D) atriangular region

(E) asquareregion

30 feet

A 50 feet D

29. Thefigure above shows a rectangular play areain which
one child gands at B while another child runs back and
forth dong the entire sde AD. If the running child isina
position randomly located dong Sde AD at agiventime,
what is the probability thet the two children are a most
50 feet apart at that time?

(A)

| =

aln o

(B)

alw

©

4
(D)
(E) 1

30. On ahighway thereis an dectric pole every 96 fed. If
the poles am numbered consecutively, what isthe
number of the pole 2 miles past pole number 56 ? (1
mile= 5,280 feet)

(A) 109
(B) 110
(©) 152
(D) 165
(E) 166
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SECTION 4
Time—30 minutes B
13 13
30 Quedtions A |-$ C
10 |-|
L9 20 0
" 13 130 9. Theareaof triangular The area of triangular
region ABC region ABC
x<10<y
2 2 2
X+ (2 =
2. x-10 y-10 ( Jg) 6
10. ¥ 4
3. 10 percent of 25 percent 35 percent of
of $69.97 $69.97 X = y2
1=cy
a=-1 u
. XC
b=2 Y
=3 Cylindrical tank X has radius 4 meters and height 3
22 +p? 1 meters. Cylindricd tank Y has radius 3 meters and
4. 5 5 height 4 meters.
c 12 Thevolumeof tank X~ Thevolume of tank Y
x_4
y 6
13. y-X 1
5 X 50 O isthe center of thedirde.
PQ< OP
14. X 60
6. V26 ++/10 8
COMPARISON OF TEST SCORES
FOR TwiO CLASS
Mumber of scores | Mean score | Median score
Br -3, 4) COT 4 Clazs & 15 80 84
Clasz B 20 74 72
° 15 The meen of the The meian of
A5, -3 Di¥, -3
45 scores the 45 scores
7. The area of rectangular 84 16. If the temperature of a compound increases a a condant
region ABCD rate of 15 degrees per minute, how many minutes does it
M(r, s t) denotesthe average (arithmetic mean) of r, take for the temperature of the compound to increase
s, and t, and M(x, y) denotesthe average of xand y. from 60 degrees to 300 degrees?
8. M(70, 80, 90) M(x, 90) where (A)12
x =M(70,80) (B) 16
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(C) 20
(D) 24
(E) 30

12
17.1f — = 2, which of the following must be true?

7-2
S

(A)r=0
B)r=6
©r=s
D)r=2s
B)r=3s

18. If the edges of a 3-inch by 4-inch rectangular photograph

were each lengthened by 50 percent, what would be the
area. in quare inches, of the enlarged rectangular
photograph?

(A)18

(B)20

(©24

(D)27

(B)30

19.0f X=2ad L =3 theny=
Yy X

(A6

®)23

©1

(D)32

(B)6

20. Three pumps, X, Y, and Z removed water from atank.

Pump X removed 550 gdlons, pump Y removed 1,250
gdlons, and pump Z removed 1/3 of the tota number of
gdlons removed by the three pumps combined. How
many galons of water did pump Z remove from the
tank?

(A) 450

(B) 600

(©) 900

(D) 1,800

(BE) 2,700
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UMITED STATES FILM BOx OFFICE RECEIFTS AND
AVERAGE ADMISSION CHARGE

13401530

“ear | Box Office Receiptz®| Average Admizzion
[in milliors of dollars) Charge
1340 $735.0 $0.24
15580 $1.376.0 $0.53
1960 $351.0 $0.63
1570 $1.162.0 $1.55
15380 $2.748.5 $2.69
15990 $5.021.8 £4.75

*Bow office receipts are the total amounts collected from
admizzion charges

21. For the yeer after 1940 in which box office receipts were

lessthan they were ten years before, what wasthe
average admission charge?

(A)$0.53

(B)$0.69

(C)$L55

(D)$2.69

BET75

22. Which of thefollowing isdosest to theretio of the

average admission charge in 1950 to that in 19907
(A) 959
(B)
©
(D)

B

E|" Ol NIk, N[RN[R

23. Approximetely how many admissons were paid in

19407
(A)300,000
(B)1,800,000
(C)3,000,000
(D)177,000,000
(E)3,000,000,000
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MUMEBER OF FARMS IN THE UMITED STATES, 1850-1390 (A)8
[ir rnillicnz]
(B) 82
4 &3

E iE A4 (C) 16
4 |

27 3.0 21 (D) 1642
2 r14 i
; ©® 3242

1230 1270 1290 1910 1930 1950 14970 1990

24. What was the percent decrease in the number of farms 28. How many 3-digit integers, greater than 100. are there

from 1970 to 1990 ? in which the sum of the digits equas 3?
(A) 9% (A) Three

(B) 21% (B) Four

(C) 30% (©) Six

(D) 70% (D) Nine

(BE) 0% (E) Twelve

25. The average acreage per farm was gpproximately 140 in
1910 and 220 in 1950. The raio of the totd farmland
acreagein 1910 to the totd in 1950 was most negrly

3
A)—
(A) y
®) E 29. An equilaed triangle with perimeter p, asguareand a
3 semicirclewere joined to form the figure shown above.
© 3 Wha isthe perimeter of this figure?
5 (A)3p
1 p
D) - B) —+
(D) > (B) 5 pp
2 p
— C) 7Tp+—
B 5 © 7p > p
7
- - © —p+2p
26. A research scientist wants to study a certain attribute of 3 3
dogs It is estimated that approximately 5 percent of al ® ﬂ +B
dogs have this atribute. If the scientist wantsto Sudy a 3 P 6 P

sample of N dogs having the attribute, gpproximately

how many should be screened in order to obtain the 1
dogs = norderto n 30.Ifxisll§ percent more than v, then yiswhat percent

desred sample 5ze?

(A)N/5 lessthan x?
(B) 5N (A) %%

(C) 20N (B) 10%

(D) 105N. © 111%
(B) 120N 9

1
T . . ) D) 12—%
27. A quareisinsoribed in acirde If the dirde has radius 4. 2

what isthe perimeter of the square ? (B) 15%
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SECTION 5
Time -30 minutes
38 Quedtions

1. In spite of thefact that it is convenient to divide the
life gpan of animdsinto separate $ages such aspre
natal, adolescent, and senescent, these periods are not
redly----.

(A) advanced
(B) vaidile
(C) repestable
(D) connected
(E) didinct

2. Although the number of reported volcanic eruptions
has risen exponentialy since 1850, this indicates not
---- volcanic activity but rather more widespreed
and ---- record kesping.
(A) abating..detailed
(B) increasing..systematic
(C) subdtantid..aratic
(D) stable..superficid
(E) consgtent..meticulous

3. The chdlenge of interpreting fictiona workswritten
under paliticaly repressve regimesliesin digin-
guishing what is---- to an author's beliefs, as
opposed to what is - by politicd coercion.

(A) innate.. understood

(B) organic.. imposed

(C) contradictory.. conveyed
(D) obligue.. captured

(BE) peripherd.. demanded

4. | am often impressed by my own ---- other
peoplesidiocies what is harder to ---- isthat they,
in their fally, are equaly engaged in putting up with
mine.

(A) andyssof.. judtify

(B) forbearance toward.. underestimate
(C) exaperation with .. credit

(D) involvement in .. dlow

(E) tolerance of .. appreciate
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5. Despite vigorous protestations, the grin on the teen-

ager'sface ----her denid that she had known

about the practicd joke before it was played on her
parents.

(A) belied

(B) illugtrated

(C) reinforced

(D) exacerbated

(E) trividized

6. Far from undermining the impression of permanent

decline, the ---- datue seemed emblemétic of its
---- surroundings.

(A) indecorous.. opulent

(B) grandiose.. ramsheckle

(C) pretentious.. mple

(D) ungainly.. degant

(E) tawdry.. blighted

7. Depite the fact that it isdmog universdly -,

the practice of indentured servitude ill -—- in
many parts of theworld.

(A) condemned... abates

(B) tolerated.. survives

(C) proscribed.. perddts

(D) mandated.. lingers

(E) disdained.. intervenes

8. CANDY: UGAR::

(A) chick: egg

(B) tire: rubber

(©) pen: ink

(D) mushroom: spore
(E) rag: screp

9. SCRIPT: DRAMA.:

(A) theeter: play

(B) movement: symphony
(C) photograph: scene

(D) map: town

(E) score music

10. AMBIGUOUS: UNDERSTAND::

(A) verecious defend
(B) blatant: ignore
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(C) prosdc: classfy
(D) arcane: conced
(E) plausble: believe

11. MERCURIAL: MOQOD::
(A) cdlous emation
(B) doleful: energy
(C) jaundiced: attitude
(D) whimsicd: behavior
(E) unversed: experience

12. PRISTINE: DECAY::
(A) adequate: imprecision
(B) gable: fluctuation
(C) voldile force
(D) symmetric: flaw

(E) vdid: exception

13. DIGRESS EXCURSIVE:
(A) improvise: studied
(B) reiterate: redundant
(C) excdise prolix
(D) refute: plausible
(E) accede: contentious

14. PONTIFICATE: SPEAK::
(A) indoctrinate: preech
(B) impersonete: imitate
(C) obey: ligen
(D) soar: fly
(E) strut: walk

15. OFFICIOUS: MEDDLE::
(A) disAffected: rebd
(B) bustling: excd
(C) profligete: conserve
(D) subservient: eeem
(E) acrimonious. soothe

16. ATTENUATE: THICKNESS:

(A) separate: substance
(B) ventilate: circulation
(C) vaccinate immunity
(D) trandfer: location
(E) coal: temperature

An expaiment conducted aboard Spece Lebin 1983 was
the firgt attempt to grow protein crydds in the low-gravity
environment of space. That experiment is dill cited as evi-
dence that growing crystasin microgravity canincresse
crysd sze the authors reported thet they grew lysozyme
protein crysas 1,000 times larger than crysadsgrown in
the same device on Earth. Unfortunately, the authors did
not point out thet their crydids were no larger thanthe
average crystd grown using other, more standard tech
niques in an Earth laboratory.

No research has yet produced results that could judtify
the enormous cogts of producing crystdson alarge scdein
gpace. To get an unbiased view of the usefulness of micro-
gravity crystd growth, crystas grown in spacemust be
compared with the best crystas thet have been grown with
standard techniques on Earth. Given the great expense of
conducting such experiments with proper controls, and the
limited promise of experiments performed thusfar, itis
questionable whether further experimentsinthisarea
should even be conducted.

17.According to the passage, which of the following
is true about the Space Lab experiment conducted in

1983?

(A) It wasthefirg experiment to take placein the
microgravity environment of space.

(B) It wasthefirst experiment in which researchers
in gpace were able to grow lysozyme protein
crystals gregter in size than those grown on
Earth.

(C) Itsreaults have been superseded by subsequent
research in the field of microgravity protein
crysd growth.

(D) Itsresults are dill condgdered by someto be
evidence for the advantages of microgravity
protein crysta growth.

(E) Itsresults are conddered by many to beinvaid
because nongtandard techniques were employed.

18.1t can beinferred from the passage thet the author
would find the Space L ab experiment more impressve
if which of the following weretrue?
(A) The results of the Space Lab experiment could be
replicated in producing other kinds of crygdsin
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addition to lysozyme protein.

(B) Thedevice usad in the experiment produced larger
crystas on Earth then it did in spece.

(©) Thedzeof the crydds produced in the expert
ment exceeded the size of crygtds grown in
Earth laboratories using sandard techniques.

D)The codt of producing the crysdsin space
exceeded that of producing them using standard
laboratory techniques

(E) The sandard techniques used in Earth laboratories
were modified in the Space Lab experiment due
to the effects of microgravity.

19.Which of the following can be inferred from the pas-
sage about the device used to grow cryddsinthe

Space Lab experiment?

(A) The device is more expensive to manufacture than
are the devices used in standard techniquesin an
Earth laboratory.

(B) The device has not been used to grow crygtasin
space since the Space Lab experiment of 1983.

(©) Crydds grown in the device on Earth tend to be
much amdler than crystas grown in it in space.

(D) Crygds grown in the device in gpace have been
exceeded in Sze by crydds grown in subsequent
experiments in space usng other devices.

(E) The experiments in which the device was used
were conducted with proper controls.

20.The passage suggests thet the author would most prob-
ably agree with which of the following assessments of
the results of the Space Lab experiment?

(A) Although the results of the expaiment are
impressive, the experiment was too limited in
scopeto dlow for definitive conclusions.

(B) The results of the experiment areimpressive on
the surface, but the report ismideading.

(C) Theresults of the experiment convincingly
confirm what researchers have long suspected.

(D) Because of design flaws, the experiment did not
yield any results rdlevant to the issue under
investigetion.

(E) Theresults of the experiment are too contradictory
to dlow for easy interpretation.
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In 1923 the innovative Russian filmmeker Dziga Vertov
described filmmeking as a process thet leeds viewerstoward
a"fresh perogption of theworld.” Vertov's description of
filmmaking should gpply tofilmsontheubject of art. Yet
filmson at have nat hed apowerful and parvasve effect
ontheway wesee

Publications on art flourish, but these books and artides
do not necessarily sucoeed in teeching usto see more degply
or moredealy. Muchwriting in art higory advancesthe
discoursein thefield but isunlikdy to inform the eye of
one unfamiliar with its palemics HIms, however, with ther
cgpadity to present materid visudlly and to reach abroeder
audience, have the patentid to enhance visud literacy (the
ability to identify the detallsthet characterize a particular
yle) more effectivey then publications can. Unfortunatdy,
few of the hundred or o films on art that aremade eech
year in the United States are broadcagt nationdly on prime-
timetdevison.

The fact thet films an at are rardy seen on prime-time
televison may be due nat only to limitations on distribution
but dso to the shortcomings of many such films Some of
these shortcomings can be atributed to thefailure of art
higoriansand filmmekersto collaborete dasdy enough
when making filmson art. These professondsare e,
within ther respective distiplines, to increase our avare
nessof visud forms For dose callaboration to occur,
professondsin eech discipline need to recognize thet films
on art can be both educationd and entertaining, but this
will require compromise on both sides.

A filmmaker who is cregting a film about the work of
an artig should not follow the standards set by rock videos
and advertising. Filmmakers need to resst theimpulse to
move the camera quickly from detall to detail for fear of
boring theviewe, to framethe image for the sske of drama
done, to add music for fear of dlence. Flmmakersare
awarethat an art object demands concentration and, & the
sametime, are concarned thet it may not be compeling
enough? and so they hopeto provide relief by interposing
"red" scenesthat bear only atangentid relationship to the
subject. But awork of art needs to be explored onitsown
terms. On the other hand, art historians need to trugt that
one can indicate and andyze, not solely with words, but
dso by directing the viewer's gaze. The spedidized written
language of art history needsto be rdinquished or at least
tempered for the screen. Only an dfective collaboration
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between filmmakers and art higorians can createfilmsthat
will enhance viewers perceptions of art.

21.The passage suggests that afilmmeaker desiring to

enhance viewers perceptions of art should do which of

the following?

(A) Rdly on the precise language of art history when
developing scriptsfor filmson art.

(B) Rely on dramétic narrdive and music to set a
film'stoneand syle.

(C) Recognize that awork of art by itsdf canbe
compelling enough to hold a viewer's atention

(D) Depend more strongly on narration insteed of
cameramovements to guide the viewer's geze.

(E) Emphasize the socid and the historical contexts
within which works of art have been created.

22 The author of the passage refersto Vertov in the firgt

paragraph most probably in order to

(A) provide an example of how films can be used to
influence perceptions

(B) present evidence to support the argument thet
films have been used successtully to influence
viewers perceptions

(C) introduce the notion that film can influence how
viewerssee

(D) contrast atraditiond view of the uses of film
with a more modern view

(E) describe how film can change aviewer's
perception of awork of art

23.Which of the following best describes the organization
of the passage?

(A) An observetion about an unsatisfactory Stuetion
is offered, the ressons for the Stuation are dis-
cused, and then waysto change it are suggested.

(B) Two opinionsregarding a controversd phenom-
enon are contrasted, supporting evidencefor
eech is presented, and then the two opinions are
reconciled.

(C) Criticism of apoint of view is discussed, the
criticism is answered, and then the criticism is
gpplied to another point of view.

(D) A point of view is described, evidence supporting
the view is provided, and then asummary is

presented.

(B) A drategy is presented, ressonsfor its padt failure
are discussed, and then arecommendation thet
will be dandoned is offered.

24.The passageis primarily concerned with
(A) discussing why film's potential asamedium for
presenting art to the genera public has not been
fully redized and how film might be made more
efectivein thisregard
(B) discussing the shortcomings of films on art and
the technologica innovations required to increase
the impact of film on visud literacy
(C) discussng the advantages and the disadvantages of
using filmsrather than publications to present
works of art to the generd public
(D) presenting informetion to support the view thet
films on art must focus more on education and
less on entertainment in order to incresse visud
literacy
(E) presenting informetion to support the view thet
films on art, because they reach a broader aud-
ence than many other kinds of media, have had
grester successin promoting visud literacy

25.The author would mogt likely agree with which of the
following statements about film and visud literacy?

(A) Reading a publication about awork of art and
then seaing afilm about the ssme work isthe
most effective way to develop visud literacy.

(B) Anincreesein aviewer's avareness of visud
formswill dso lead to an increasad tention
span.

(C) FiIm has agreat but not yet fully exploited capac-
ity to increase viewers awareness of visud
forms,

(D) A film that focuses on the details of awork of art
will hinder the development of visud literacy.

(E) Flms on art would more effectively enhance the
visud literacy of teenagersif filmmakers
followed the standards set by rock videos.

26.According to the passage, art higtorians desiring to
work with filmmakers to enhance the public's gppreck
aion of art need to acknowledge which of the fol-

149



GRE10-6(96.4)

lowing?

(A) Theart higorian'srolein the cregtion of afilm on
atislikely to beareatively minor one.

(B) HIm provides an ided opportunity to acquaint
viewerswith awide range of issuesthat rdate
incidentaly to awork of art.

(©) Anin-depth andyds of awork of atisnot an
gopropriate topic for afilm on art.

(D) Although silence may be an appropriate back-
ground when viewing awork of atina
museum, it is ingppropriate in afilm.

(E) Film can use nonverba meansto achieve some of
the same results that a spoken or written dis-
course can achieve,

27.Which d thefollowing would describe the author's
mogt likely reection to acdam thet films on art would
more successfully promote visud literecy if they
followed the standards set for rock videos?

(A) Ambivaence

(B) Indifference

(C) Sympathy

(D) Inter et

(E) Disdain

28. ACCESSORY:

(A) insubordinate

(B) invishle

(©) of high qudity

(D) of massive proportions
(E) of primary importance

29. CHAMPION:

(A) emulate
(B) disparage
(C) compd
(D) anticipate
(E) disappoint

30. DECADENCE:

(A) chearfulness
(B) promptness

(C) deanliness

(D) wholesomeness
(E) carefulness

3L OPACITY:
(A) transparency
(B) smoathness
(C) colorlessness
(D) eongation and thinness
(E) hardness and durability

32. MISGIVING:
(A) consistency
(B) certainty
(O generosity
(D) loyalty
(E) affection

33. HARANGUE
(A) overtly envy
(B) intermittertly forget
(C) gratefully acknowledge
(D) spesk temperately
(E) sacrifice unnecessarily

34. GERMANE:
(A) unproductive
(B) irreguler
(©) indiginguishable
(D) irrdevant
(E) unsubgtantiated

35, IMPUGN:
(A) rectify
(B) dassify
(C) vindicate
(D) mallify
(E) chastise

36. INEXORABLE:
(A) discernible
(B) quantifiable
(©) rddenting
(D) ingpiring
(E) reveding

37.RESTIVE:
(A) necessary
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(B) interesting
(©) cdm

(D) hedthy
(E) deft

38.BAIT:
(A) perplex
(B) disarm
(C) delude
(D) rdesse
(E) fortify

SECTION 6
Time-30 minutes
25 Quedtions

Quedtions 1-7

A professor of economicsiswriting atextbook that will
congg of eight chapters, numbered consecutively from 1
through 8, each of which will explain exactly one of eight
aubjects N,O,R ST, X,Y,andZ. Nosubject will be
explained in more than one chapter. Congderdtions of
background knowledge and relatedness between subjects
require that the order in which the eight subjects are
explained be subject to the following conditions

N and O must be explained in two successive chapters,
not necessaxily in that order.

R, S, and T mugt be explained in three successve
chapters, with Sexplained in an earlier chapter than
T isexplained.

X, Y, and Z mug be explained in three successive
chapterswith Z explained in an earlier chapter than

X isexplaned and in an earlier chapter than Y is
explained.

R must be explained in chapter 6.

1.Which of the following is an acceptably ordered list
of the subjects to be explained, in order from chapter 1
through chapter 8?

(A)N,0,Y,Z,X,R ST
B)ON,ST,X,RY,Z
©ON,ZX,Y,ST,R
D)Z X,Y,ST,RN,O
®ZX,Y,T,SRN,O

21f O isexplained in chapter 5, which of the following
could betrue?

(A) Sisexplained in chepter 4.
(B) T isexplained in chepter 7.
(©) X isexplained in chapter 2.
(D) Y isexplaned in chapter 1.
(E) Z is explained in chapter 3.
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3If Sisexplained in an earlier chapter than N is
explained, which of the following must be true?

(A) N isexplained in chapter 7.
(B) Oisexplaned in chapter 8.
(©) X isexplaned in chepter 3.
(D) Y isexplained in chapter 2.
(BE) Z isexplained in chapter 1.

4.1f N is explained in the chapter immediatey pre
ceding the chapter in which Z is explained, which of
the following could be explained in chepter 5?

(AN
(B0
©s
OT
B X

5.1f T is nat explained in chapter 5, which of the
following mugt betrue?

(A) N isexplained in chapter 3.
(B) Oisexplaned in chepter 8.
(C) Sisexplained in chapter 7.
(D) X isexplained in chapter 2.
(B) Y isexplained in chapter 4.

6.0 can be explained in any of the following chapters
EXCEPT

A)2
B3
©4
D)5
|7

7.1t Y isexplaned in the chapter immediately pre
ceding the chapter in which O is explained, which of
the following must be explained in chapter 5?

(AN
|7
©Xx
OY
B Z
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8.Sdesparson  Thepicturetubeisthe centra com-

ponent of any tdevison, and Ficturesquetdle-
visgons usethe same high-qudity picture tubes
asthoseusad in TruVuetdevisons Sinceyou
pay amuch lower pricefor aFicturesoue, you
pay alower pricefor atelevisonwiththesame
picture qudity when you buy aPicturesque
ingead of aTruVue.

Which of the following is an assumption that, if

justified, would dlow the condusion of the sdles-

person's argument to be properly drawvn?

(A) TruVue tdevisions are much more widdly
advertised than are Ficturesque tdevisions,

(B) The picture qudlity of atdlevisonisdetermined
soldy by the qudity of its picture tube.

(C) A sdesperson earns much lesson the sde of
each Picturesque tdevision than on the sde of
eech TruVuetdevison.

(D) Many more Picturesque tdevisons are sold
eech year than TruVue tdevison.

(E) Actureque tdlevisons are assembled in the
same factory that assembles TruvVue tde-
visons.
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CIGARETTE SALES IN TWO NOMADJACENT
KIMMERLAMD PROVIMCES 19587-19532
(trallions of packs per month)

150

140 + |Halberma

130 T

Crvenia
120 T

110 +

1o 1

a0 +

a0

1987 1988

1930 1931 1992

A Civera institutes 40 %% mcrease i cigarette tax

A" Halberma institutes 40 %4 mcrease i cigarette tax

B: Civenia heging intenstve antismolang television advertising campaign

C: Crvenda concludes intensive antismoking television advertizing campaion

9. The daim that Civenids antismoking televison
advertisng campaign contributed significantly to the
seep dedlinein cigarette purchases in that province
during 1991 is best supported if which of the follow-
ing has been true about the province of Habernia
from the beginning of 19917

(A) It kept its cigarette tax at the 1990 level and
indtituted an antismoking television advertising
campaign smilar to Civenids.

(B) It kept its cigarette tax a the 1990 level and did
not inditute an antismoking televison adver-
tigng campagn.

(©) It rescinded the 1990 cigarette tax increase and
did not inditute an antismoking television
advertisng campaign.

(D) It diminated dl cigarette taxes and did not ingti-
tute an antismoking television advertising cam:
paign.

(B) It increesed its cigarette tax by an additiona
40 percent over the 1990 leve and ingtituted
an antismoking televison advertisng cam-
paign smilar to Civenids.
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10.Which of thefollowing, if true, most helpsto

explain why cigarette purchasesin Civeniadecdlined

more dowly after the completion of thetelevison

antismoking advertisng campaign than they did

before the campaign began?

(A) Laws regricting smoking in public placesin
Civeniawent into effect at the beginning of
1992.

(B) Mogt of thase smokersin Civeniawho were
likely to quit or cut down on smoking hed
done s0 by the beginning of 1992.

(C) At the beginning of 1992, hedlth insurance
companies in Civenia offered lower rates to
nonsmoking residents than to those who
smoked.

(D) Cigarette companiesincreased their pricesto
Civeniadigtributors at the beginning of 1992
to offset the decrease in the number of packs
old.

(E) Some cigarette companies withdrew their adver-
tissments from Civenia newspapers and maga
Zines @ the beginning of 1992,
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A red edtate agent will show exactly five gpartments,
one after another, in asingle afternoon. The gpartments
will be sdlected from among four large gpartments—G,
H, J, and K—and three smdll gpartments—P, Qand R
The agent will show three large gpartments and two
amd| apartments. The agent's selection of gpartments
and the order in which they will be shown are
condrained asfollows

Thetwo smal gpartments sdlected must be shown
second and fourth, respectively.

H and Q cannot both be shown.

If Gisshown, it must be shown fird.

If Pisshown, H must aso be shown.

If Jand K are both shown, I must be shown & some
time before K is shown.

If R and P are both shown, R mugt be shown a some
time before Pis shown.

11.Which of the following can be the apartments sdlected
in an order, from firgt through fifth, in which they
can beshown?
A GH,RK,P
B GQJIPK
©GQJIJRK
D)H,PIRK
B JQHPK

12 Which of thefallowing isapair of goatments that
CANNOT hath be shown?
(A)GadH
B)GadP
©HadJ
D)PadQ
(B) QandR

13.If Q and K are both shown, which of the following
must betrue?
(A) Jisshown third.
(B) Jis shown fifth.
(©) K is shown third.
(D) Qisshown second.
(BE) Q isshown fourth.

14.If Risshown fourth, which of the following must be
true?
(A) H isshown fird.
(B) H is shown third.
(©) K is shown third.
(D) Pis shown second.
(BE) Qisshown second.

15.1f Jisshown firg, then apair of gpartmentsthat can
be shown fourth and fifth, respectively, are
A KadP
B)KadR
(©PadK
(D) QandK
(B)RadK

Out of nine nominees, saven will be sdected to form a
committee. Exactly four of the nine nominees—two
women and two mer? belong to party P, another
three—one woman and two men—be ong to party Q,
and theremaining two? one woman and one man—
belong to party R. The rules governing the selection of
the committee are asfollows

At leadt three women must be selected.
No party can have more than three of its members
sdlected.

16.Which of the following is an acceptable committes?
Paty P Paty Q Paty R

(A) 1woman 1woman
2men 2men 1men

(B) 2women 1 woman
1men 2men

(C) 2women 1 woman
2men 1men 1 man

(D) 2women 1woman
1man 2men 1 man

B - 1 woman 1woman
2men 2men 1 man

17.1f both of the men belonging to party P are sdlected,
which of the fallowing must be true?
(A) More men than women are sdlected.
(B) More women than men are sdected.
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(C) More members of party P than members of
party Q are sdected.

(D) More members of party Q than members of
party R are sdected.

(E) More women than members of party Q are
sdected.

18.If more women than men are sdected, which of the

following must betrue?

(A) The man beonging to party R is sdected

(B) At least one of the men belonging to party Q is
sected.

(C) Members of party Q outnumber members of
party P on the committee.

(D) Members of party P outnumber members of
party Q on the committee.

(E) There are equad numbers of members of party P
and members of party Q on the committee

19.Which of thefollowing can betrue?

(A) All of the members of party P are sdected.

(B) The only members of party Pwho are sdected
are men.

(©) The only members of party Pwho are sdlected
arewomen.

(D) The only nominees sdected who are not mem-
bers of party P are men.

(E) The only nominees sdected who are not mem-
bers of party P are women.

20.Which of the following must be true?

(A) Exactly four women are selected.

(B) Exactly four men are sdlected.

(C) At least one nominee beonging to party R is
selected.

(D) At lesst three of the nominees beonging to
party P are sdlected.

(E) All three of the nominees belonging to party Q
are Hected.

21.If oneof the people not sdected isthe woman
belonging to party Q, which of thefollowing must
betrue?

(A) A man beonging to party Pis not sdected.
(B) A man bdonging to party Q is not sdected.

(C) The man beonging to party R is not selected.

(D) A woman belonging to party Pisnot sdected.

(E) The woman beonging to party R is not
sected.

22.1f members of party Q outnumber members of party

P on the committee, which of the following can be

true?

(A) The man bdonging to party R is not selected.

(B) The woman belonging to party R is not
selected.

(C) Bath of the men belonging to party Pare
sected.

(D) All of thewomen who were nominated are
sected.

(E) All of the men who were nominated are
selected.

23.In arecent film set in seventeenth-century Europe, the
hero is seen doing the crawl, aswimming stroke not
known in Europe before the 1920'sHowever, since
moviegoers obvioudy are not expertsin the history of
swimming strokes, for mogt of the film's audiencesthis
blunder dearly cannot have interfered with whatever
sense of higorical authenticity thefilm otherwise
achieved.

Which of the following, if true, most serioudy weskens

the argument given?

(A) Thefilmwaswidey praised for being historicaly
plausble, even though it portrayed many events
that were not higtorically attested.

(B) The scenethat showsthefilm's hero doing the
crawl isarescue scene pivotd to the film's action,
and parts of it are even shown asecond time, ina
flashback.

(C) Makers of higoricd films, even of those st as
recently asthe nineteenth century, routingly strike
compromises between higtoricd authenticity and
the need to keep ther materid accessbletoa
modern audience, asin the actors speech patterns.

(D) The crawl that European swimmers used in the
1920'swas much less efficient and more
awkward-looking than the crawl that is currently
taught.
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(E) A dightly earlier film festuring an e ghteenth
century sea battle in Europe wasridiculed in
numerous popular reviewsfor the historicd lapse
of showing asalor doing the crawl in swimming
to sfety.

24.The government of Pontran daimsthat Tor City, one of
the Sx mgor dtiesin that country, is done among
Pontran's cities in having sustained strong job growth
thisyear. Clearly, however, any job growth this year.
Clearly, however, any job growth there must be

purely imaginary; in fact, in Tor City and only there, more
people are unemployed this year than were lat year.

The argument countering the government'sclam

depends on the assumption that

(A) unemployed workersin Pontran did nat, in
sgnificant numbers, moveto Tor City whenthe
government damed Tor City had strong job
growth

(B) the unemployment ratein Tor City ishigher year
than in any previous year

(C) attionstaken by the government of Pontran
sgnificantly affect the unemployment rate in Tor
City

(D) the unemployment rete in Tor City, though
increased, is il the lowest of any city in Pontran

(E) thereis no significant seesond variation in the
unemployment rate for Pontran asawhaole

25.As people age, the number of calories they need each day
decreaseswhile their daily requirement of vitamin Bs
increases. Clearly, unless older people take Bs supple-
ments or eat adiet that contains more B; than did the

diet they ate when they were young adults, thereislittle
likelihood that they will get Bs in nesded amounts.

Which of the fallowing would be most helpful to know

to evduate the argument?

(A) Whether the reldive decrease in the daily requirement
of caories isgreeter than therddtive
increase in the daily requirement of vitamin Bs.

(B) Whether the form of vitamin B found in dietary
supplementsis more readily absorbed and utilized
by the body than isthe form of this vitamin that
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isfound in food.

(C) Whether the consequences of not getting vitamin
Bs in required daily amounts are more serious for
older people than for young adults.

(D) Whether the diets of most people, when they are
young adults, include vitamin B in amounts far
in excess of therr daily needs.

(E) Whether the diets of older people are more likely
than those of young adults to include one or more
medsaday that are devoid of foods containing
vitamin B.



